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Question Number : 1 Question Id : 50521227567 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is meant by ‘sensitive period’ in child development?

Options:

1. Period concerning a rapid advances only in cognition and learning.

2. Optimal period for development of specific capabilities.

3. Period in which development of only language can be accelerated.

4. Period at which physical growth is at its peak.

Question Number : 1 Question Id : 50521227567 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 50521227568 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Cephalo - Candal principal of development states that -
Options:

1. development proceeds from head to toe.

2. development proceeds from centre to extremities.

3. development proceeds from toe to head.

4. development proceeds from extremities to the centre.

Question Number : 2 Question Id : 50521227568 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T =1 st foga vfaufea w2 fp —

Options :

| TrE e vaTEEa e

, Tooha s ¥ o/ a= waT 2
; fmm e & s EEr 2

4, T BRI § %5 T TR e B

Question Number : 3 Question Id : 50521227569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Thought becomes abstract and idealistic during the period of -
Options:

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 50521227569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 50521227570 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rearranging schemas, linking them with other schemas to create a strongly interconnected

cognitive system in Piaget's theory is referred to as
Options :
1. Assimilation.

2. Accommodation.



3. Organization.

4. Maturation.

Question Number : 4 Question Id : 50521227570 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 50521227571 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children in stage can solve problems mentally but the problems themselves have to

be related to materials and not symbols.
Options :

1. formal operational

2. concrete operational

3. sensori - motor

4. pre-operational

Question Number : 5 Question Id : 50521227571 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 50521227572 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-constructivist theorist consider the child as -
Options :

1. a blank slate

2. passive recipients of knowledge

3. active beings involved in creation of knowledge.

4. miniature adults.

Question Number : 6 Question Id : 50521227572 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 50521227573 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Encouraging dialogue among students and providing scaffolding are examples of -
Options :

1. creating a zone of proximal development.

2. conditioning of responses.

3. positive reinforcement.

4. transfer of learning.

Question Number : 7 Question Id : 50521227573 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 50521227574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who proposed that new knowledge is constructed is a zone between what the child knows and

what she is capable of knowing with support?
Options :

1. Lev Vygotsky

2. Jean Piaget

3. Howard Gardner

4. Ivan Pavlov

Question Number : 8 Question Id : 50521227574 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 50521227575 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these situations is illustrative of a child-centred classroom?

Options :

1. A class in which the students are sitting in groups and the teacher takes turns to go to each
group.

2. A class in which the behaviour of students is governed by the rewards and punishment the

teacher would give them.
3. A class in which the teacher dictates and the students are asked to memorise the notes.

4. A class in which the students do whatever they want while the teacher watches them silently.

Question Number : 9 Question Id : 50521227575 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 50521227576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The idea of ideal reciprocity as exhibited in the Golden Rule is the key characteristics of which



stage of moral development according to Kohlberg?
Options:

1. Social order orientation

2. Social contract orientation

3. Universal ethical principles

4. Good boy- good girl orientation

Question Number : 10 Question Id : 50521227576 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 50521227577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Intelligence is according to Howard Gardner.
Options :

1. a positive change in behaviour

2. a negative change in behaviour

3. the ability to produce original products



4. a set of several distinct abilities

Question Number : 11 Question Id : 50521227577 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 50521227578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Teachers should follow standardized curriculum, pedagogy and methods of

assessment.

Reason (R) : Educational systems should ignore and dismiss individual differences among the

children.

Options :

1. Both (A) and ( R) are true and ( R) is the correct explanation of (A).

2. Both (A) and ( R) are true but ( R) is not the correct explanation of (A).
3. (A)is true but (R) is false.

4. Both (A) and (R) are false.



Question Number : 12 Question Id : 50521227578 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 50521227579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Encouraging girls to take up languages and arts and discouraging them to take up mathematics

and science is an example of -
Options :

1. gender equity

2. gender constancy

3. gender discrimination

4. gender empowerment

Question Number : 13 Question Id : 50521227579 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 50521227580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements correctly describes the relationship between language and

thought as per the socio-constructivist perspective?

Options :

1. Language determines thought.

2. Thought is governed and directed by language.

3. Relationship between language and thought is bi-directional.

4. Language and thought are independent cognitive capabilities.

Question Number : 14 Question Id : 50521227580 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 50521227581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To ensure focus on ‘assessment for learning’ rather then ‘assessment of learning’ it is important to

include:

(i) Self - assessment

(ii) Peer- assessment

(iii) Quantitative feedback

(iv) Comparisons between students on quantitative parameters
Options :

1. (iii), (iv)

2. (i), (i1), (iii)

3. (ii), (iii), (iv)

4. (i), (ii), (iii), (iv)

Question Number : 15 Question Id : 50521227581 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 50521227582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following practice promotes inclusion in education?
Options :

1. Corporal punishment to students

2. Learning for competitive exams

3. Respect for diversity

4. Standardized curriculum

Question Number : 16 Question Id : 50521227582 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 50521227583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following disability causes challenges in paying attention and sustaining long

duration involvement in tasks?

Options :

1. Attention Deficit Hyperactivity Disorder
2. Dysgraphia

3. Dyslexia

4. Visual Impairment

Question Number : 17 Question Id : 50521227583 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 50521227584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In a class having learners from various linguistics identities, a teacher should practice:
Options :

1. Multilingualism

2. Segregation

3. Labelling

4. Stereotyping

Question Number : 18 Question Id : 50521227584 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 50521227585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Use of multimedia for communication will help inclusion of:

(i) students with intellectual difficulties

(i) students with giftedness

(iii) students with Autism

(iv) students with Dyslexia
Options :

1. (i)

2. (i), (iii)

3. (i), (ii), (iv)

4. (i), (i), (iii), (iv)

Question Number : 19 Question Id : 50521227585 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 50521227586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a correctly matched pair of appropriate accommodation strategy for

inclusion of students with specific disability?

Options :

1. Dyscalculia: Prohibition of use of calculator

2. Dyslexia: Giving long essays to be written

3. Visual impairment: Providing read-to-text software

4. Autism: Increasing visual overload

Question Number : 20 Question Id : 50521227586 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 50521227587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following does not facilitate students’ thinking?
Options :

1. Active involvement

2. Meaningful activities

3. Passive listening

4. Social participation

Question Number : 21 Question Id : 50521227587 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 50521227588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
opportunity of hands-on activities is likely to learning among students.

Options:



1. Avoiding, improve
2. Facilitating, improve
3. Presenting, stagnate

4. Preventing, enhance

Question Number : 22 Question Id : 50521227588 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 50521227589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct in context of learning?

Options:

1. Students learn best when they participate in activities that are related to their context

2. Students learn best when they participate in activities that are not related to their context
3. Students learn best when they participate in meaningless activities

4. Students learn best when they participate in mechanical activities



Question Number : 23 Question Id : 50521227589 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 50521227590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While introducing a new topic, a teacher should ask questions which:
Options :

1. are from the domains completely unfamiliar from students.

2. are much beyond their cognitive abilities.

3. has not relation with the topic to be taught.

4. relates the topic to be studied with what students already know.

Question Number : 24 Question Id : 50521227590 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 50521227591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Socio-cultural context of students:

Options :

1. has minimal role in the learning process

2. has norole in the learning process

3. plays a significant role in the learning process

4. should be ignored in the learning process

Question Number : 25 Question Id : 50521227591 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 50521227592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher intends to facilitate reflective skills among her students. This can be done by:
Options :

1. Asking students to copy the content written on board.

2. Encouraging students to ask themselves questions about their understanding.

3. Giving a passage to students for rote - memorization.

4. Shaping the students’ behaviour using stimulus -response associations.

Question Number : 26 Question Id : 50521227592 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 50521227593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher should:

Options :

1. discourage students to identify their errors themselves
2. ignore misconceptions carried by students

3. strengthen students’ misconceptions.

4. scaffold students to correct their errors themselves.

Question Number : 27 Question Id : 50521227593 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 50521227594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A student is felling very nervous and having high anxiety before the exam. His emotional state is

likely to



Options :

1. cause internal motivation for performance.
2. have no impact on his performance in exam.
3. improve his performance in exam.

4. negativity impact his performance in exam.

Question Number : 28 Question Id : 50521227594 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 50521227595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is a correctly matched pair of a source of motivation and the type of

motivation?

Options:

1. Curiosity - Intrinsic motivation

2. Appreciation from peers - Intrinsic motivation

3. Praise of teacher - Intrinsic motivation



4. Trophy in match - Intrinsic motivation

Question Number : 29 Question Id : 50521227595 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 50521227596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will not facilitate understanding of a concept?
Options :

1. Asking students to copy the answers from the notes given by teacher.
2. Asking students to explain that concept in their own words.

3. Asking students to frame principles from specific examples.

4. Asking students to generate analogies between different conditions.

Question Number : 30 Question Id : 50521227596 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Mathematics and Science

SectionId: 505212874
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121590
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 50521227597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The sum of the LCM and HCF of 198, 135 and 108 is
Options :
1. 2979

> 3966

3. 5949

4. 4464

Question Number : 31 Question Id : 50521227597 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
198, 135 3R 108 % LCM AT HCF =1 I 2:

Options :
1. 2979

5 3966

3. 5949

4 4464

Question Number : 32 Question Id : 50521227598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The value of
v450 <125
V338 245 ©°

Options :



14
13
21

91
4. 75

Question Number : 32 Question Id : 50521227598 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 50521227599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

5 3
fa=— andb=-,
11 7

then (a+b) 21X (a* +b1)isequal to

Options :
15
1. 77

68

15
3, 68

77

Question Number : 33 Question Id : 50521227599 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
afra=— shrb=> 4 (a +b)! x (a7 +b7L) wmwd
Options :
15
), 77

68

>, 15



15
63

77
4. 15

Question Number : 34 Question Id : 50521227600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/are NOT true about natural numbers?
(a) Every prime number is an odd number.

(b) All even numbers are composite numbers.

(c) The sum of two prime numbers is always an even number.

(d) If an even number is divided by 2, the quotient is always odd.

Options :
1. Only (c)
2. Only (d)

3. All(a), (b), (c) and (d}

4. Only (a) and (d)

Question Number : 34 Question Id : 50521227600 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
. F ()

=

, = (d)

N T (a), (b), (c) 3 (d)

, A (a) AR (d)

Question Number : 35 Question Id : 50521227601 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement:

Options :

1. Forany two integers, aand b, a X (— b) is always negative.
o Difference of two negative integers cannot be positive.

3. Product of a negative integer with another negative integer will give an integer smaller than both the integers.

4. Product of a negative integer with a positive integer will be an integer less than 0.

Question Number : 35 Question Id : 50521227601 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TET e T UEEE I

Options :
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Question Number : 36 Question Id : 50521227602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a rhombus shaped field is 5880 m* and of its diagonal is 70 m. What is the side (in m) of the field?
Options :

1. 84

3. 63

Question Number : 36 Question Id : 50521227602 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TR TR G 7 G4 5580”2 T S0 U T 70 1 A0 2| A 1 ¥ AW (1 )
N

Options :

1. 84

Question Number : 37 Question Id : 50521227603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The area of a square with side xunits is double the area of a triangle with base xunits. Then, the altitude of the
triangle is

Options :

X ;
— units

1. 2
2. Xunits
3. 2xunits

4. 4xunits

Question Number : 37 Question Id : 50521227603 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 38 Question Id : 50521227604 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The total surface area of a solid right circular cylinder is 3.52m* and the radius of its base is 0.35 m.

The height of the cylinder is (Take m = 27—2 )

Options :

5
= m
1. 4

d= | =] ta |
3

Bd |~
=

Question Number : 38 Question Id : 50521227604 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Tt 36 A g e 7 9 QA 6 3.5 m” 2 T TR ST o .35 m B 7 1 g
. 22

UK (T[:7 G IHEU.]

Options :

5
= m
4

= m
4

m

b | =~

Question Number : 39 Question Id : 50521227605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Numbers 12, 13, 14, ....., 40, 41 are written on different slips, one number on one slip. These slips are put into a bag.
Radha takes out one slip from the bag without looking into the hag. What is the probability that the slip drawn by her
is NOT a prime number?

Options :
4

11
3. 15



23
4. 30

Question Number : 39 Question Id : 50521227605 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

VR TR W 12,13, 14, .........., 40, 41 Torelt et 2] 528 et o o 0 v o T ) 9 et
A I S T R T E I 0 R T o 2R v O e | e e e e e
oot 78 O O e T e R 27

Options:

4

11

23
2. 30

Question Number : 40 Question Id : 50521227606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The mean of some observations is 54. If each observation is increased by 8 and its sum is divided by 2, then what is the
mean of the resulting observations?

Options :



3. 35

Question Number : 40 Question Id : 50521227606 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o7 T 9 1A $4 21 7 e oA 3 § g 5 TR A 2 8 e e, o e e
T

Options:

1. 27

w
%)
A

Question Number : 41 Question Id : 50521227607 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the product of 9x% + 4y? , 3x+2yand 3x — 2y?

Options :

1 18x* +16y*



5, 27x* —64y*

3 81x* +16y*

4 81x* —1ley*

Question Number : 41 Question Id : 50521227607 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

9?{_'«‘ 5 4}_,.—’:'.. 3x+2y chIEy 3% = E}WW%
Options:
. 18x*+ 16y

27x* — 64y"

2
4 4
3 81x"+ 16y
4__ yed
4 81X 16y

Question Number : 42 Question Id : 50521227608 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

a’— b%+ a(a+b)
a(a—b)+ b(a—b) '

a=hb, is equal to

Options:
a—2b
1. a—b




2a—b
2. a+b

2a—b

a—2?b
4. a+b

Question Number : 42 Question Id : 50521227608 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
a’—b?+a(a+b)

MW a%b, TR E:
Options :
a— 2b
1. a—b
Za— Db
>, a+b
2a— b
3. a—b
a— 2b
. @FD

Question Number : 43 Question Id : 50521227609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

y—1 y— 2 Sy+7
ity — T = ] T : then what is the value of L2

?

Options:
1
3 —

1. 2

Question Number : 43 Question Id : 50521227609 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

o | —2Z & 5 BYyET
Iy — }’T:]_ YT%HT YE FT AN E:

Options :
¥
3_

1. 2

Question Number : 44 Question Id : 50521227610 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Subtracting X = X~= 19 from the sum of 3x° = 8x + 11 and — 67+ 12x + 17, we get
Options:
1 4% +5x+9
s
2 4X" — dx+47
3. —4X+5x— 9
4, —A4XT+5X +47

Question Number : 44 Question Id : 50521227610 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

37 = 8x+ 11 F9T —6x°+ 12x + 1THIMIF x° - x— |9 F A T, 24 WH T 2
Options :

1, 4xT+5x+9

2. 4X° = 5x+47

3. — 4 +5x— 9

4. — 4x% + 5x + 47

Question Number : 45 Question Id : 50521227611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The selling price of a toy is X 1020. If the profit made by the shopkeeper is 20%, then the cost price of the toy is

Options :

1. £720

> X750

3 2800

4. %850

Question Number : 45 Question Id : 50521227611 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e gert 1 o e 1020 7 | 3T TR 1 20% 71 A0 T 2147 €, 1 e 1 70 e 2

Options :
1. 720

5 750
3. 800

4. 3850

Question Number : 46 Question Id : 50521227612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following triangle(s) has/have no line of symmetry?

Options:



1 Equilateral triangle only
o Isosceles triangle only
3. Scalene triangle only

4. Both Scalene triangle and isosceles triangle

Question Number : 46 Question Id : 50521227612 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
frefefea & & fore frget o =€ wmfore v = et 20
Options :

2 .
3 hded [d9HHIT %ﬂ\nél

, TEEETE B ot wmizeg e

Question Number : 47 Question Id : 50521227613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABCD is a rhombus in which £ BAC=50°, then 3 £D — 2 £ DAC is equal to
Options:

1. 120°



> 140°
3. 150°

4 160°

Question Number : 47 Question Id : 50521227613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ABCD % =4 &, fed LBAC =50°

7w, 34D — 24DAC susR 2:
Options :

1.120°
5 140°
3 150°

4 160°

Question Number : 48 Question Id : 50521227614 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ABC and DBC are two triangles formed on the same base BC and on the same side of it. IF AC=DB and AB=DC, then
which of the following is correct?

Options:
1. AABC = ACEBD



5 AABC

112

ADCB

3. AABC

12

ADBC

4 AABC = ABCD

Question Number : 48 Question Id : 50521227614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ABC 3t DBC T TR BC T 741 3009 T € 41 & a1 e €1 3¢ AC = DB &fit AB=DC 2,
Fyeafeia 3 & 77 e 27
Options :

1. AABC = ACBD

|12

.. AABC = ADCB

3. AABC

|12

ADBC

4. AABC

|12

ABCD

Question Number : 49 Question Id : 50521227615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Side BC of a triangle ABC is produced to a point D. If £ A=40° and AC=BC, then 2 £ ACD=3 £ B is equal to

Options :
1. 280°

5> 260°



3. 2407

4 220°

Question Number : 49 Question Id : 50521227615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
foref P ABC #1 9T BC A DA A A 2 7t LA = 40° sfwAC=BCE A2

LACD + 34B T 2:

Options :
1. 280°

5 260°
3 240°

ST

Question Number : 50 Question Id : 50521227616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sum of the two vertically opposite angles xand yis 80°. If Z is the complement of angle y, then 3x - y+zisequal to
Options:
1. 110°

5> 120°

3 130°



4 150°

Question Number : 50 Question Id : 50521227616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ﬁﬁﬂ%ﬁﬂ'@ﬁﬁxﬁ?yﬁﬁmmo %M‘%zﬁﬂyﬁi@%ﬁwx— }-’-I-ZW%:
Options:

1.110°

5 120°
3 130°

4 150°

Question Number : 51 Question Id : 50521227617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is NOT true about the five steps of the Mathematisation?
Options :

1. ldentifying the real problem in the context.

2. Memorising an algorithm.

3. Solving meaningful mathematical problems.

4. Making sense of mathematical solutions in real life.



Question Number : 51 Question Id : 50521227617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

feAfefias o & #1991 32 0T 0T 3 U1 =0T o o1 3 9ed 721 2
Options :

1 TN T IR T i U T
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Question Number : 52 Question Id : 50521227618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mathematical concepts form a complex web of connections in which new concepts and previously learnt concepts are
inter connected.
Which of the following statements most appropriately describes this?

Options :
1 Fraction must be taught before whole numbers
o Multiplication and division must precede addition and subtraction

3. Number concepts and patterns are building blocks to algebraic thinking

4. Proportional Reasoning does not involve algebraic thinking



Question Number : 52 Question Id : 50521227618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 53 Question Id : 50521227619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is indicative of mathematics classroom based on Social Constructivist framework?
Options:

1. Ateacher demonstrating the use of dienes block.

2. Students responding to a quiz by raising hands.

3. Students working independently with Geoboards.

4 Students working in collaboration on a project.



Question Number : 53 Question Id : 50521227619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Trefofs & & 7 ST AT ST U ST T e i ey w2
Options :

| TSI =T ST T AN T @ B
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Question Number : 54 Question Id : 50521227620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A teacher poses the following problem of algebra to her class:

7 g 3
"Does the graph X =V~ ever intersect the graph of X =y~ +2? What are the different ways you would use to test your

\
conjecture? Would your conjecture hold true for other equations of the form x =y~ + b."

Which of the following statement/statements is/are correct in the given context?

(a) One of the learning outcomes of posing this question is comparison and analysis of quadratic equations.
(b) Teacher should focus only on getting the solution that the two graphs will not intersect.

(c) The teacher can assess the reasoning skills of students.

(d) Such questions confuse the students and hence should be discouraged in a mathematics classroom.
Choose the correct option:-

Options:
1. (a) and (c)

2. only (d)



3. only (b)

4. (a)and (b)

Question Number : 54 Question Id : 50521227620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

(a) 3R (c)

1

, T (d)

-

, e (b)

(a) 3R (b)

4,

Question Number : 55 Question Id : 50521227621 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

For assessing the performance of students in mathematics over a period of time, Mr. Raju has collected exemplary
works of his class VIII students which includes assignments, project reports, homework, models, unit tests and class
tests etc. The assessment strategy used by Mr. Raju is a

Options :

1. Cumulative reward.
2. Anecdotal reward.
3. Portfolio.

4. Rubrics.

Question Number : 55 Question Id : 50521227621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T F e % o, T % TR YW 1 e 0 3 (e, 7T 97 e § S0 97 6 2 v
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Options:

1. W SATeE

5, IR @



Question Number : 56 Question Id : 50521227622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The definition "Mathematics is a way to settle in the mind, a habit of reasoning” is given by

Options :

1. Locke
2. Galileo
3. Bruner

4. Napolean

Question Number : 56 Question Id : 50521227622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TS, TR, 77 T 281 7 3 e 3 5 A U O 2 R

Options:

-
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Question Number : 57 Question Id : 50521227623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

While making a lesson plan on introducing Data handling, a middle school mathematics teacher thought of formulating
a four-step process for Data handling.

The four-steps are given in random order.

(a) Collecting the data

(b) Interpreting the results

(c) Formulating the questions

(d) Analysing the data

Which of the following represents the correct order of process?

Options :
1 (@), (©), (d), (b)
5 (c), (d), (a), (b)

5. (@), (a), (d), (b)

4. (a), (d), (b), (c)

Question Number : 57 Question Id : 50521227623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T T FraTerd 5 0T 2 S50 = A7 o T O U3 T 8T 20 A7) o Yo o ol =T &1
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Options :
1 (@), (c), (d). (b)

5. (€), (d), (a), (b)



3 (), (a), (d), (b)

4. (3), (d), (b). (¢)

Question Number : 58 Question Id : 50521227624 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

After teaching the topic "Congruence of 2D figures", a middle school teacher starts a discussion with the students to
assess their understanding of the topic. During the discussion, one of the students said, 'Two regions having same area
are also congruent',

Which of the following statements is correct with respect to student's response?

Options :

1. Student's generalisation is correct.
2. Student's generalisation is correct for quadrilaterals.
3 Such responses need to be ignored by the teacher.

4. Student's misconception needs to be addressed by the teacher.

Question Number : 58 Question Id : 50521227624 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 59 Question Id : 50521227625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching in a mathematics class, a teacher gives the statement "Common Divisor of two integers is a number
which divides both the given integers". The statement is a

Options :

1. Proposition
2. Definition
3. Axiom

4 Open sentence

Question Number : 59 Question Id : 50521227625 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 60 Question Id : 50521227626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher folds a square sheet of paper into half and punches a hole in the folded sheet of paper. She then unfolds the
paper. Which of the following topics she can teach with this activity?

Options :

1. Symmetry and volume

2. Volume and fraction

3. Symmetry and fraction

4 Surface area of a square

Question Number : 60 Question Id : 50521227626 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 61 Question Id : 50521227627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following are characteristic features of trees in mountain range?
A) sloping branches

B) needle like leaves

C) waxy, thick stem

D) long penetrating roots

Options :
1. A&B
2 B&C

3 C&D

4. A&C

Question Number : 61 Question Id : 50521227627 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 50521227628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct option

Assertion: Water boils easily at low altitude regions like sea shore.
Reason: Atmospheric pressure is less at lower altitudes.

Options :
1 Both Assertion and Reason are correct and Reason is the correct explanation of Assertion.
2 Both Assertion and Reason are correct but Reason is not the correct explanation of the Assertion.

3. Assertion is correct but Reason is false.

4. Both Assertions and Reason are false.



Question Number : 62 Question Id : 50521227628 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 50521227629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is true when a ray of light travels from air into oil?
Options :

1. The speed of light decreases and the ray bends towards the normal.

2. The speed of light increases and the ray bends away from the normal.

3. The speed of light increases and the ray bends towards the normal.

4. The speed of light decreases and the ray bends away from the normal.



Question Number : 63 Question Id : 50521227629 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 50521227630 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following represents set of contact forces?
Options :

1 electrostatic force, force of friction, magnetic force

o muscular force, force of friction, gravitational force

3 drag, muscular force, force of friction

4. gravitational force, electrostatic force, drag

Question Number : 64 Question Id : 50521227630 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 50521227631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A magnet is broken into two pieces. If these two pieces are brought closer to each other, they will
Options :

1. attract each other.

2 repel each other.

3. Mmay attract or repel.

4. neither attract nor repel.

Question Number : 65 Question Id : 50521227631 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 50521227632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

During a class experiment, a teacher took two objects and immersed them in water. She recorded the readings using a
spring balance as shown below:

Object | Wt.of Stone | Wt. of Stone | Weightof | Buoyant
in Air in Water Liquid Force acting
(Newton) | (Newton) | Displaced | onhody
(Newton) | (Newton)
A 92 X 16 i§
B Q 10 Z 10

Which of the following is corract?

Options :

| X-108,Y-108, Z-10, Q-80

> X%-108, Y¥-16, Z-80, Q-80

3. %76, Y-16, Z-10, Q-80




4. %76,Y-16, 7-80, Q-10

Question Number : 66 Question Id : 50521227632 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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A 92 X 16 Y

B Q 70 7 10
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Options :

1 X—108,Y—108,Z-10,Q—80

5 X—108,Y-16,Z-80,Q-80

3 X-76,Y-16,Z2-10,Q-80

4 X—76,Y-16,2-80,Q-10

Question Number : 67 Question Id : 50521227633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Consider the following statements and choose the CORRECT one.

Statement (S1): Rising sun is not considered as an appropriate guide to locate direction in all seasons.
Statement (S2): Point of sunrise changes continuously.

Statement (S3): During Summer Solstice, the point of sunrise shifts towards North.

Statement (54): During Winter Solstice, the point of sunrise shifts towards South.

Options :
1. 51,83

, S1,52
3. 51,52,53

4 52,53,54

Question Number : 67 Question Id : 50521227633 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 50521227634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

There are three test tubes A, B and C, all having colorless liquid of equal volume and strength. A drop of
Phenolphthalein is added to each of them. It is observed that test tubes A and B remain colorless while C becomes
pink. When the pink solution of C is added to A and B, it is observed that A remains colorless but B attains pink color.
Which of the following is correct inference?

Options :
1. A=Strong Acid B= Strong Base C= Weak Acid

5 A= Weak Acid B= Strong Acid C= Strong Base
3. A= Strong Acid B= Weak Acid C= Strong Base

4. A=Strong Acid B= Weak Acid C= Weak Base

Question Number : 68 Question Id : 50521227634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 50521227635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs can be utilised as acid-base indicator?
Options :

1 Red cabbage leaves and turmeric
2. Salt and turmeric
3 Banana leaves and cabbage leaves

4. Lemon juice and turmeric

Question Number : 69 Question Id : 50521227635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 50521227636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rita wanted to store the pickles in a container. The best container for this purpose can be
Options :

1. Aluminium

2. Glass

3. Copper

4, Brass

Question Number : 70 Question Id : 50521227636 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 50521227637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A material M was heated in a spoon and immediately put in a gas jar and was covered. Small amount of water was
added to the jar and the solution was tested with blue litmus paper. The paper turned red. Material 'M' could be

Options :

1. Sodium
2. Aluminium

3. Magnesium

4. Sulphur

Question Number : 71 Question Id : 50521227637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

Question Number : 72 Question Id : 50521227638 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option.

Assertion (A) - Cellulose rich food substances are good source of roughage for human beings.
Reason (R1) - Cellulose gets absorbed and converted into fibres during digestion.
Reason (R2) - The cellulose digesting bacteria convert cellulose into fibres.

Options :

1. Alstrue and R1is correct explanation for A
5 A is true and R2 is correct explanation for A

3. Alisfalse and R1 is true

4. Ais false and R2 is true

Question Number : 72 Question Id : 50521227638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 50521227639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following do not contain any enzymes?
Options :

1. Bile juice
2. Pancreatic juice
3. Gastric juice

4. Salivary juice

Question Number : 73 Question Id : 50521227639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 50521227640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Two containers A and B contain 50 gm of ice at 0°c and 50 gm of water at 0°c respectively. If both the containers are
kept in the freezer of a refrigerator and allowed to reach thermal equilibrium, which of the following statements will
be true?

Options :

1. A will lose more heat than B
2. B will lose more heat than A

3. Both A and B will lose equal heat

4. Which of them will lose more heat cannot be determined

Question Number : 74 Question Id : 50521227640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 50521227641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The type of joint in elbow of our forelimb undergoes similar movement as of the door joint of the house. Which joint is
this?

Options :

1. Ball and socket joint

2. Pivotal joint

3. Hinge joint

4. Fixed joint

Question Number : 75 Question Id : 50521227641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 50521227642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Deficiency of which vitamin leads to excessive bleeding from a wound?
Options:
1. C

5 Bcom plex

Question Number : 76 Question Id : 50521227642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1. C

Question Number : 77 Question Id : 50521227643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Light enters from air into the following media successively and finally emerges.

Medium Refractive Index
A 15

B 1.26

§ 1.33

D 1.0

E 2.0

Which of the following is the correct sequence about the change in the velocity of light?
Options :

1. decrease, increase, decrease, increase, decrease, increase

2 increase, decrease, increase, decrease, increase, decrease

3 decrease, increase, increase, decrease, increase, decrease

4. increase, decrease, increase, increase, decrease, increase

Question Number : 77 Question Id : 50521227643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 50521227644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is the correct answer to explain the mechanism of inhalation during breathing in human beings?
Options :

1. Air moves in, Ribs move in and Diaphragm moves down

2 Air moves out, Ribs move out and Diaphragm moves up

3 Air moves out, Ribs move out and Diaphragm moves down

4. Air moves in, Ribs move out and Diaphragm moves down

Question Number : 78 Question Id : 50521227644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 50521227645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A man having a blood group A marries a woman with a blood group B. The blood group of their son/daughter could be
Options :
1. Only A

2. Only B

3. Either Aor B

4. Either A, B, O or AB

Question Number : 79 Question Id : 50521227645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 50521227646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose correct option.

Assertion (A) - We hear a louder sound when a table is hit hard than when we hit it softly.
Reason (R1) - Loud sound can travel large distance as it is associated with higher energy.
Reason (R2) - Loud sound has more frequency than soft sound

Options:

1. Both R1 and R2 are correct and R2 is correct explanation for A
2. Both R1 and R2 are correct and R1 is correct explanation for A
3. Only R1 is true and correct explanation for A

4 Only R2 is true and correct explanation for A

Question Number : 80 Question Id : 50521227646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 50521227647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the National Curriculum Framework( NCF)-2005, which of the following is not an objective of science
teaching at the upper-primary stage?

Options :

1. Using systematic experimentation as a tool to discover/verify theoretical principles.
2 Learning concepts of science through familiar experience.
3 Working with hands to design simple technological units and modules.

4. Doing activities and experiments to arrive at scienftific concepts.

Question Number : 81 Question Id : 50521227647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 50521227648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most accurate description of scientific laws?
Options :

1. Scientific laws are descriptions of the relationships between observable phenomena.
2. Scientific laws are products of strong scientific theories.
3. Scientific laws have a higher status than scientific theories.

4 Scientific theories are more legitimate products of science than scientific laws.

Question Number : 82 Question Id : 50521227648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 50521227649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher poses the following question to her class VIl students.

"Which is heavier - 1 Kg of cotton or 1 Kg of iron"?

She finds that a large number of students think that 1 Kg of iron is heavier than 1 Kg of cotton. Which of the following
strategies would be the least useful in addressing this idea?

Options:
1. Defining the concept of density

2. Demonstration of the equivalence of the two by scales
3. Providing opportunity to handle & weigh cotton balls and iron blocks of different sizes

4 Explanation of the difference between heaviness and density

Question Number : 83 Question Id : 50521227649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 50521227650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Research tells us that children come to formal science learning with many prior ideas that do not match with the
scientific explanations. Which of the following is NOT true in respect of these ideas?

Options :

1. They are based on everyday experiences
2. They can be easily changed
3. They influence children's school learning

4. Even adults can hold these ideas

Question Number : 84 Question Id : 50521227650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 50521227651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What, according to social constructivism, is the most crucial teaching strategy for helping students construct a
meaningful understanding of science?

Options :

1. Frequently conducting activities for students using activity guides
2 Asking students to prepare models to demonstrate scientific ideas
3 Encouraging students to solve good number of numerical problems

4. Helping students in talking, thinking, arguing and writing about science

Question Number : 85 Question Id : 50521227651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TS T %Mgﬂl(%ﬁlﬁfﬁﬁ%mﬁﬂﬁ Wiﬂﬁmﬁﬁ%%ﬁﬁ?ﬁfwmﬁmﬁw
Options :

| Teremfeda o for2r TorammereTy wafetenT o1 SU=T 0 ToRaTeRemTat 3ht SRR ST )




, Tt = Seten fom=m = fawi= o STeer 99 1 Fe

5 TSI HEAT  HEATCHE T4 1 T A o 1079 (Tt 3l Ieaied Tl

4, T % T S, W, S T S fore o forn, ferateat it wes w

Question Number : 86 Question Id : 50521227652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following would be least helpful for assessing the thought processes or ideas of science learners?

Options:
1. Asking students to prepare a chart/poster for exhibition/display

2 Posing questions to students in a one-on-one conversation

3. Interviewing students intensively

4. Asking students to depict their thought processes through concept-maps/diagrams/sketches

Question Number : 86 Question Id : 50521227652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 50521227653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is best suited for testing a hypothesis in science?
Options:

1. Observation
2. Experimentation
3. Group Discussion

4. Problem Solving

Question Number : 87 Question Id : 50521227653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 50521227654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student says that substances such as flour and salt are ‘liquid” because they take the shape of the container in which
they are put. What would be your response to the student's claim?

Options :

A material that is 'liquid" has no fixed shape, it takes the shape of the container it is poured into. So, salt and flour are
liquids.
1.

They are solids because even though a whole mass of tiny grains of flour or salt does not have a definite shape, each
2. individual grain does.

3. Flour and salt are not liquids because they do not exhibit the wetting property but they are fluids because they 'flow’.

4 The definition of a 'solid" is incomplete as it does not accommodate substances such as flour and salt.

Question Number : 88 Question Id : 50521227654 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 50521227655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies can provide the most meaningful clarification on the concept of scattering of light?
Options:
1. Chart showing a scattering of light

2. Animated video showing scattering of light
3. Observing scattering of light on a colloidal solution by the learners

4. Focus group discussion

Question Number : 89 Question Id : 50521227655 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 50521227656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a characteristic of a constructivist science classroom?
Options :

1. Students discussing various ways of solving a numerical problem
o Teacher ignoring students’ erroneous responses
3 Teacher listening to students' conversations during a field trip

4. Students planning for an investigation

Question Number : 90 Question Id : 50521227656 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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TR-T M- ST, TSI, S97-FeT o SToTod SeT=R U=
o T, ST ST & W=TeTsh, UTeiT, T 271E Teft St &
T <71 91 2 =0T G =7 3 et it o iefisit % ey A w5
Tirees | forar #:4 9l

Sub questions

Question Number : 91 Question Id : 50521227658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘YT | 37k AT 31 S THET T8 A4 199 J T@iterd
ATFAEE -

r-2

Options :
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 50521227659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TeET -
|, Tore 1 v el
. U@ hi U SieAt
3. BITEY
4. grErE F S
Options :

[

1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227660 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTSIES 5 GHE € —

|. FHEORE
E
AT
4. dcdsq

d

[

LS ]

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521227661 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e

T 7 STa=a F TeaS O 39T [o7@T STaT 2T
. T8 UF G TS 9T

—

2. T T e e FE F T
3. UM AT F e o
4. ?-I%?H:ilrﬁf:im ﬁw a1

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227662 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TEE HIETE -
1. 3k
E2)
3. 3
4, #HATh

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521227663 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘A T I 274 o1 RS 9T 981 41)°, I § “IT
TS T T SRR ﬁdll@aﬂ%?

1. TS o

2. HERE S % fem

3. AT % fou

e
4. TEHT R Te0

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227664 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS 3 ST W e ST §aT 2 1
1. Tt ST e o o faame w9
2. Tt Sf e AE= T | a3 @y 9
3. TITeft < oRt forEe = T o)
4. Tl <f 6T STET T ST 9 1 9

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227665 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



vﬁﬁﬁ?ﬁﬁﬁmmwﬁmﬁ'ﬁwww
T rgifrg ST e qeag &

I-J

[ R e
. TS H TeAEH g1l

3
. [
4. ST GRS 4

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227666 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WIS S H1-HT 7 F Torgr S on 7= 5 i E
T F AT E —
M CRE RIS
). IEFITEWTEH
3. ETEH
4. HETE TGS
Options :
1.1
2.2
3.3

4.4

Question Id : 50521227657 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



TeT-fem 70 it oAt U Um0 ST 3 o e I e
EREETIE

WA T I T4 1 FIE AT 21 9T IS0 F 719 T S ey
ST % UF =991 9ETeT i oaTEe § S O 39 U S 6 2EE Ree
T 3T | o2 ITEE0E o] @9-369 =id T8 o] 9o 2 39 oAt
ToITeT Tea=a T #e] WSt F SaaT &, T 39 Feddd % i aIeE
Tafatere &I 7o e Fd o 7o o fafeer afaer & 9eea & 99
A AT IF, 2R

e & =141 & forg T g, femafurat, o, s o saweE, e,
T, HEATRT, AT 9T ot 78 T tu, e %0 S 6
=TS ST AT AT ST Teaeh! H ol (eT@Tae o &1, S ah
T T & ToraT ST 91l F Teee S A8 9

TR-T M- ST, TSI, S97-FeT o SToTod SeT=R U=
o T, ST ST & W=TeTsh, UTeiT, T 271E Teft St &
T <71 91 2 =0T G =7 3 et it o iefisit % ey A w5
Tirees | forar #:4 9l

Sub questions

Question Number : 91 Question Id : 50521227658 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘YT | 37k AT 31 S THET T8 A4 199 J T@iterd
ATFAEE -

r-2

Options :
1.1
2.2
3.3



4.4

Question Number : 92 Question Id : 50521227659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TeET -
|, Tore 1 v el
. U@ hi U SieAt
3. BITEY
4. grErE F S
Options :

[

1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 50521227660 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TTSIES 5 GHE € —

|. FHEORE
E
AT
4. dcdsq

d

[

LS ]

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 50521227661 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e

T 7 STa=a F TeaS O 39T [o7@T STaT 2T
. T8 UF G TS 9T

—

2. T T e e FE F T
3. UM AT F e o
4. ?-I%?H:ilrﬁf:im ﬁw a1

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 50521227662 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
TEE HIETE -
1. 3k
E2)
3. 3
4, #HATh

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 50521227663 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘A T I 274 o1 RS 9T 981 41)°, I § “IT
TS T T SRR ﬁdll@aﬂ%?

1. TS o

2. HERE S % fem

3. AT % fou

e
4. TEHT R Te0

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 50521227664 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS 3 ST W e ST §aT 2 1
1. Tt ST e o o faame w9
2. Tt Sf e AE= T | a3 @y 9
3. TITeft < oRt forEe = T o)
4. Tl <f 6T STET T ST 9 1 9

Options:
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 50521227665 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



vﬁﬁﬁ?ﬁﬁﬁmmwﬁmﬁ'ﬁwww
T rgifrg ST e qeag &

I-J

[ R e
. TS H TeAEH g1l

3
. [
4. ST GRS 4

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 50521227666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TEIST | <2 -5 7T F T Srar o) 27 5 i
T & ST 2 -
M CRE RIS
). TRHITHATHH
3. SEENTH
4, AT
Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 5052121592

Question Shuffling Allowed : Yes

Question Id : 50521227667 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

'%UTHTWHI ﬁwmuc&m U‘ﬁ"ﬂﬁ*dTU%TrUH%T%F e e U
%m?rzmmﬁvl

I el W 2 UG,

T Tea ST 31T o7,

R BTS2 53,

EHH'-hﬂ_,. Hihod HH A Hﬂ-‘iiﬂ,

TE O S FO 7 A,

1

PIELEE EE NG R IR
r-\ b

ey THATHL =eaqT =217

FI2T F TIeST ST,
T WR 3= 9,
e & Taia T,
ur}%aeqﬁ?ra:rwa'—r.m
SIEE W-‘élﬁ aTd 34'!?'%&,
Feq YT =o=T B

Sub questions

Question Number : 100 Question Id : 50521227668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FEaTy YA ST 24T T T @I A TS 2
|. T E W ST & o

[ e O
BEGES UG R GG

[-J

3. Ehﬁﬁ%ﬁ#‘awﬁlﬂl F fom
Options :
1.1
2.2



3.3
4.4

Question Number : 101 Question Id : 50521227669 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FHSTEaT T o i § e sreg T v R T R

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
ShieeT § 9T 211 ae 1 &7 ore 3T 3 i 7E 20
|. TR =T 9Y
. T AT °Td

[

L

Options:
1.1
2.2
3.3
4.4



Question Number : 103 Question Id : 50521227671 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

ST I AN, TAH FTHEE —
|. e =T SteAe= &
4. FYF THAT FAT

[

LS

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T F AT I &

| eTg

2. #AY

3. HAIF

4. FATH
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227673 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



3. g
et

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227667 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)
Question Label : Comprehension

o 7T wEteT 1 AT afen AU I 6 W4T 3 T wEe 30T
%m?rzmmﬁvl

TG HeAT SR ST U9,

ST e T 3( &9,

R BTUA T 2 23,

FHFA, T T TR,

e O I T 7 A0,

QT S ET BT
FeT (o= === =

e U .-
@‘4‘;5' hiZl | Hisdd Sid.

TET W o I IrE,
e & TEfE T,
ur%?raqﬁ?rawwa'—r.‘:ﬁr
SIEE W-‘élt‘l aTd 34'!%'%%[,
e foeTre =/ 2|

Sub questions



Question Number : 100 Question Id : 50521227668 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
FEaTy YA ST 24T T T @I A TS 2

-

I, Tl | ¥ e % fom
[ S ~ N
. TG ST =TT,

[-J

i Ty L
. EWHH T 10T 3 A0

3
4. a9 qivsher 9HT F 5 o0
Options:
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 50521227669 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FisTEar FowFEET s e T m T R T e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 50521227670 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

ShierdT § THRaT @11 &6 =T & Tohe 1T 3 el 178 27
|. 3 =T U

. T U 23y

4. FHE TARY

Options :

I3

L]

1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 50521227671 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

a7 i T, TAH FT AT E —
|. e = afere &
2. IFH (T &
4. AU TN FAT
Options:

1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 50521227672 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



I F AT e 2 —
|. =T

HT

3, FAYF

4, FARY

-

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 50521227673 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
%
YT FT AT E —
1. ¥R=

. Tae
3. g
T

I-J

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121593

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 50521227674 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



P e v v 1 o T € T 3 o =7 7 0 ) % T A S 2
1. Tore e
3. TITRre et
4, RO Wt

Options :

]

1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 50521227674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
P 5 o o e o o o # g 3 o = s e i ) 9 W A A A
|, o et
3. e weet
4, T et
Options :

-2

1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227675 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T 9TeToF STeT 7 57T 3 TS /WSO 3 2 2| 3 Tty o faywmidat o oot @ @
|. W 2 T
). TR RN a7

3, fm e I
4. TEHT 3 AT
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 50521227675 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

FT 5 Toreqen vreat o1 0 36 e @ WS o 2 ) 5 e o ferenteran ¢ o ool 5
| W 3 AT
). ek 9T a7

3. T FE |
4. AT 3 AT
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



eraia 2 G o ST T 3 1 21T v £
| it fea i U o1 O 3 g et o e =)
\ WWW%W 9 ITeUTTER 3 7T TR 2259 3 Q9 O Fuqutt e =1
3. EH-ITSFAT  SRATTed Wt A o e i Swien 2 =
4 %ﬂ?{dt-gfﬂiam,qﬁaﬁﬁﬂTw‘ur%%@wmuﬁém U3 BT =TT

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 50521227676 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Taanfefat % we & TS AT T 2T SEEF
|, e 32 o et 2 U o g e o e =
. Tereref T wert o ST A MUTIaa % 4T ST T 3 1T T [ewvit et e
3, TTE-JTRA B SR W AT § e i iRt 2 =)
4. Yo 3, e, A, T AT 6 o, AT 03 2 e

Options :

]

1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 50521227677 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T T SATE T ST B 2 I 9 3 U 6 QI e e 2 e A e e
T F A FA )
|, e
3. TEAER
4, AR
Options :
1.1
2.2
3.3

4.4

Question Number : 109 Question Id : 50521227677 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T T SAHTET TR AT A 2 3% 6T 3 Ve 1 @I § 6EE A1 2] e § ° F-A e
W FH TR AL

| SRR

3. WESAE!

4, T

Options :

1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227678 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



frfafes o & Fim-ar st shveats = fTer = e g 22
|. T 919 1 G924 T FH(SAT2 F1 247

. WTSoT 2T Hi e =

3. 90 STeaT ol HiEH J HSATE =T

4. HE vTea] B @IS H HISATE 21

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 50521227678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
fAfafEad 3 & F19-97 AT SNea s T SR T2 & FohaT 27
|. T 919 1 G924 T FH(SAT2 F1 247
. TS 3 HifHaT w5 E
3. 90 STeaT ol HiEH J HSATE =T
4. HE vTea] B @IS H HISATE 21

Options :

I3

1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 50521227679 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



-1 AT =T AT -2 WA TR i ST T HE

T hifs)
-1 T 7w TT-2 WIS =I2eh ST S
A ARG a. Y[ TS THTEYUT HH0T
T T T wa T
1. o7 fogm 2l
b. SSATCHE WU &
TUT GG o a1 i
. o= T Far 2|
. HYEAT o T T
ITe% T IR o
FHEIISH i T@itehd
V. 3e8 G T FAT 2
. I o & H STeT 6
T % Tt i saTar
2
. SATFAUTE a2t o1 IFT
ISURSIEREIRTIE= o)
ITTITST T 3777 2747 i
Z9T * foraT ST 2
1. 1(B), 11 (C), I1I (D), IV (E)
2. 1(A), 11 (C), I (E), IV (D)
3. 1(B), I1 (E), 111 (E), IV (D)
4. 1(D), 11 (E), 111 (E), IV (A)
Options :
1.1
2.2
3.3

4.4




Question Number : 111 Question Id : 50521227679 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

-1 TSR = T FE-2 HINTET TR it AT T HE

e #Fifsm)
-1 W =ew -2 WIS = St S
I @A faEe a. ¥[E UE THEY0 HUE0T
= ol i wE i A
1. o7d fagm H
b. SSHTeH WINUT & 3T
FUT G o =T i
. - HEfd Far gl
C. W%Wﬁmﬁ
IT6E AT IT&RT o
HHESH i {@iiehd
V. 368 §C=AT FAT 2
d. Il % & § YTeRT
T % TRt o s aTar
2
e. Eﬂ'ﬁ(ﬁﬁﬁlv_@fﬂ‘;‘lﬁlﬂ
o, aferr = fAferm
TS ST AT AT i
T F o ST B
1. 1(B), II (C), I1I (D), IV (E)
2. 1(A), 11 (C), I1I (E), IV (D)
3. 1(B), I (E), I11 (E), IV (D)
4. 1(D), 11 (E), I11 (E), IV (A)
Options :
1.1

2.2



3.3
4.4

Question Number : 112 Question Id : 50521227680 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[

T 7 % a9 3 AT 3 e o Yot 8 200 F 250 IR 4 31 TR 7 A 7 Qe € 70§
___ Fmamd
|, ZefTTees o
). ST A
4, IETeq
Options :
1.1
2.2
3.3

4.4

Question Number : 112 Question Id : 50521227680 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[y

T 3 ¥ 1 9 8 o arem 61 e 7 200 § 250 ST S € R 35 A 5 Y £ 70
Y
| SRR W
. AT BT
4, I

Options:

i)

1.1
2.2
3.3



4.4

Question Number : 113 Question Id : 50521227681 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T foTfEs & ¥ F19-91 UF W97 F {95 & 56131 78] 27 27

| TIHT=IehaT 3 IR ot § WIST 31 T30 T
T FUT TATATT STRET F 17 T S 3 T70 ST8T 7 T2 F 1)
3. WIS HU S92 37! (SRt S0 T@ 3 To70 WTST 67 T )
4. HTETITR wﬁwwégwwmmt

-

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 50521227681 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Tfafas 3 & F19-97 UF 997 F (9979 %1 93737 751 2aT 27
. THT=raT 1 ek i § 9797 31 T )
AT TUT TTATATT STREH & 379 T T o 70 |97 37 T3 7]
3. HTHISTh U S99 31 371 00T 970 W@ o To70 |T9T &7 T2 )
4. WA SR %@Wﬁrﬁmmt

-2

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227682 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“TET ST ST ﬁ?gﬂéw ) T NC\HWHE‘;IHT%H? TG Tovieh 310 TS 3T T

L

1]

. Hq: r\ﬁ’llafﬁji

Options :

=

1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 50521227682 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T ST ST aﬁrgﬂém ! T Wﬁﬂﬁ?ﬂ?ﬁ‘?ﬂ? EPEARRE AT B GG A R

%‘?

3
4, . T
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227683 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

eATTRad o | -1 Ue e U2 i [aeaT Jr=1 ST qaat 27

. TETEUVT UG % ToT0, Bereh SST-Ag UTgd MHIET i He (a1 ST =]
TET B W TG ¥ (o0, 31T o AT 1 ST A A

3. T T G S 3 o, O el ot ot et & e e

4. UT3T ST S I TR A 3 oAU o1 T § e =)

—

-2

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 50521227683 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EATIRg s § o Shi-51 U e U &1 [S8raa g1 <7 9t 27
wmxﬁvﬁwa@ra@umq TR 3T STIHe TeRaT ST =120
H‘é@ﬁﬂ?ﬁ%]ﬁﬂﬁﬂmﬁ% ARTET 1 ST FAT =112

3 H;HTWUETWIH % foTm Tge mﬁ?ﬁaﬂ%ﬁmﬂm@i

4. UTST W T W W A & [0 e 771 § UeAT =y

—_—

IQ

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



=TT o & -9 ey 9767 e 22

1. % WTST % 7 §HS S Fl FE]
. TSI BT HIST 3 Ui 99 591 997 2719 9 3 IraaT|
3. ST T 9IeT S ﬂﬂ'ﬁﬁmmﬁﬂ%%%ﬁuﬁ TE S o T
4. Tzt v % ufe guer =9 i T
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Options:
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 50521227684 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Frfarfgs o & F9-97 e 9T e 22
1. T2 99T o Uid §9= 5= 3T Fad|
2: Eﬁmﬁ ﬂTﬂT% ::IT-;H EEE GEIE BT aﬁ-lc-um ﬂh{:i =) e.fiwmf

3. ST T WIS S A q°T S 8, F Wi 96 S o i)
4. TEATT 9T F ITe THG o9 T T

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227685 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 50521227685 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 50521227686 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 50521227687 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 50521227688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options:

1.1

2.2

3.3

4.4

Question Number : 120 Question Id : 50521227688 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Language II

SectionId : 505212876

Section Number: 4



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 17

Number of Questions to be attempted : 17

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 5052121594
Question Shuffling Allowed : Yes

Question Id : 50521227689 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Directions: Read the passage given below and answer the guestion
that follow by selecting the correct/most appropriate options.

Fields studies Loss of Learning During the Pandemic (extract)

School closure due to the COVID-19 pandemic has led to complete
disconnect from education for the vast majority of children or
inadequate alternatives like community based classes or poor
alternatives in the form of online education, including mobile
phone-based learning. One complete academic year has elapsed in
this manner, with almost no or little curricular learning in the
current class. But this is only one kind of loss of learning. Equally
alarming is the widespread phenomenon of “forgetting” by students
of learning from the previous class — this is regression in their
curricular learning. This includes losing foundational abilities such as
reading with understanding and performing addition and
multiplication, which they had learnt earlier and become proficient
in, and which are the basis of further learning. These foundational
abilities are such that their absence will impact not only learning of
more complex abilities but also conceptual understanding across
subjects. Thus, this overall loss of learning-loss (regression or
forgetting) of what children had learnt in the previous class as well

as what they did not get an opportunity to learn in the present class
— i5 going to lead to a cumulative loss over the years, impacting not
only the academic performance of children in their school yvears but
also their adult lives. To ensure that this does not happen, multiple
strategies must be adopted with rigorous implementation to
compensate for this overall loss of learning when schools reopen.
This study, undertaken in January 2021, reveals the extent and
nature of the “forgetting/regression’ kind of learning loss (i.e. what
was learnt earlier but has been now lost) among children in public
schools across primary classes because of school closure during the
COVID-19 pandemic. The study covered 16067 children in 1137
public schools in 44 districts across 5 states. It focused on the
assessment of four specific abilities each in language and
mathematics, across classes 2-6.

These four specific abilities for each grade were chosen because
these are among the abilities for all subsequent learning — across
subjects — and so the loss of any one of these would have very
serious consequence on all further learning.

An assessment of the learning levels of children when schools
closed as well of their current status were necessary to understand
any such regression. The former was best done through teachers
who have been deeply engaged with their learners, and thus had a
reliable assessment of children’s abilities, when schools closed in
March 2020. Therefore, this baseline assessment of children’s
learning levels, i.e. where they were assessed on specific abilities in
language and mathematics when school closed, was done based on
a comprehensive analysis by the relevant teachers, aided by
appropriate assessment tools. All abilities associated with the
previous class were not assessed; a few abilities critical for further
learning were carefully identified and assessed. These are referred
1o as specific abilities in the document. ‘End — line’ was the
assessment of the same children’s proficiency on these very same
abilities in January 2021, which was done by administering oral and
wiritten tests.

Sub questions

Question Number : 121 Question Id : 50521227690 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify :

Assertion (A): School closure due to the COVID-19 pandemic has led to complete disconnect from education.
Reasoning (R): - Vast majority of the children are being taught through community-based classes, inadequate online or
phone-based classes.

(1)A s true and R is false

(2)Ais false and Ris true

(3)Both Aand R are true and R is the correct explanation for A
(4)Both A and R are true and R is not the correct explanation of A

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227691 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situation pertaining to school education. Which of the following option is correct.

A B C D
COVID-19 Onecomplete  Littleoralmost  Widespread
Pandemichas  academicyear nocurricular  “forgetting” of
led to complete  has been totally learning has learning from
school closure.  lost. taken place. previous class.

(1)A&B
(2)C&D
(3)A&C
(4)B&D

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521227692 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best gives the meaning of the word ‘pandemic’ as used in the passage.

1) widespread disease.

2) achronic disease.

3) adisease confined to one region.

4) a disease that has spread all over the world.

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227693 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
a) School closure had led to forgetting by students of what they had learnt in the previous year.
b) Lack of foundational abilities will impact further learning.

1) (a) is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify/show how loss of learning can be remedied.

Assertion (A): It can be ensured that learning loss does not happen.

Reasoning (R): However, rigorous implementation of multiple strategies have to be used for maintain curricular
achievement.

(1)Als true but Ris false
(2)Both Aand R are false but R is the correct explanation of A
(3)Both Aand R are true and R is the correct explanation of A
(4)Als false but Ris true

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521227695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the right option to show how a baseline tool can be made to make a comprehensive assessment.

A B £ D
Assess all grade  Assess Assess all Assess core
level skills/abilities  advanced language skills
competencies  thatlead to conceptsand  and
included in future complex  skills in all foundational
curriculum, learning in subjects maths
language and operations and
maths numericals
1) A&RB
2) A&C
3) B&D
4) C&B
Options:
1.1
2.2
3.3

4.4



Question Number : 127 Question Id : 50521227696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word “proficiency” used in the passage.

(1) advanced abilities
(2)inadequacy

(3) competence
(4)incompetence

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘in the form of *
The underline word is a

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227689 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No

Question Numbers : (121 to 128)



Question Label : Comprehension

Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Fields studies Loss of Learning During the Pandemic (extract)

School closure due to the COVID-19 pandemic has led to complete
disconnect from education for the vast majority of children or
inadequate alternatives like community based classes or poor
alternatives in the form of online education, including mobile
phone-based learning. One complete academic year has elapsed in
this manner, with almost no or little curricular learning in the
current class. But this is only one kind of loss of learning. Equally
alarming is the widespread phenomenon of “forgetting” by students
of learning from the previous class — this is regression in their
curricular learning. This includes losing foundational abilities such as
reading with understanding and performing addition and
multiplication, which they had learnt earlier and become proficient
in, and which are the basis of further learning. These foundational
abilities are such that their absence will impact not only learning of
more complex abilities but also conceptual understanding across
subjects. Thus, this overall loss of learning-loss (regression or
forgetting) of what children had learnt in the previous class as well

as what they did not get an opportunity to learn in the present class
— is going to lead to a cumulative loss over the years, impacting not
only the academic performance of children in their school years but
also their adult lives. To ensure that this does not happen, multiple
strategies must be adopted with rigorous implementation to
compensate for this overall loss of learning when schools recpen.
This study, undertaken in January 2021, reveals the extent and
nature of the ‘forgetting/regression’ kind of learning loss (i.e. what
was learnt earlier but has been now lost) among children in public
schools across primary classes because of school closure during the
COWVID-19 pandemic. The study covered 16067 children in 1137
public schools in 44 districts across 5 states. It focused on the
assessment of four specific abilities each in language and
mathematics, across classes 2-6.

These four specific abilities for each grade were chosen because
these are among the abilities for all subseguent learning — across
subjects — and so the loss of any one of these would have very
serious consequence on all further learning.

An assessment of the learning levels of children when schools
closed as well of their current status were necessary to understand
any such regression. The former was best done through teachers
who have been deeply engaged with their learners, and thus had a
reliable assessment of children’s abilities, when schools closed in
March 2020. Therefore, this baseline assessment of children’s
learning levels, i.e. where they were assessed on specific abilities in
language and mathematics when school closed, was done based on
a comprehensive analysis by the relevant teachers, aided by
appropriate assessment tools. All abilities associated with the
previous class were not assessed; a few abilities critical for further
learning were carefully identified and assessed. These are referred
1o as specific abilities in the document. ‘End — line’ was the
assessment of the same children’s proficiency on these very same
abilities in January 2021, which was done by administering oral and
written tests.

Sub questions

Question Number : 121 Question Id : 50521227690 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify :

Assertion (A): School closure due to the COVID-19 pandemic has led to complete disconnect from education.
Reasoning (R): - Vast majority of the children are being taught through community-based classes, inadequate online or
phone-based classes.

(1)A s true and R is false

(2)Ais false and Ris true

(3)Both Aand R are true and R is the correct explanation for A
(4)Both A and R are true and R is not the correct explanation of A

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 50521227691 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Given below are 4 real life situation pertaining to school education. Which of the following option is correct.

A B C D
COVID-19 Onecomplete  Littleoralmost  Widespread
Pandemichas  academicyear nocurricular  “forgetting” of
led to complete  has been totally learning has learning from
school closure.  lost. taken place. previous class.

(1)A&B
(2)C&D
(3)A&C
(4)B&D

Options :

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 50521227692 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which best gives the meaning of the word ‘pandemic’ as used in the passage.

1) widespread disease.

2) achronic disease.

3) adisease confined to one region.

4) a disease that has spread all over the world.

Options:
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 50521227693 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
a) School closure had led to forgetting by students of what they had learnt in the previous year.
b) Lack of foundational abilities will impact further learning.

1) (a) is right and (b) is wrong.
2) (b)is right and (a) is wrong.
3) Both (a) and (b) are right.

4) Both (a) and (b) are wrong.

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 50521227694 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pick the correct option to justify/show how loss of learning can be remedied.

Assertion (A): It can be ensured that learning loss does not happen.

Reasoning (R): However, rigorous implementation of multiple strategies have to be used for maintain curricular
achievement.

(1)Als true but Ris false
(2)Both Aand R are false but R is the correct explanation of A
(3)Both Aand R are true and R is the correct explanation of A
(4)Als false but Ris true

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 50521227695 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the right option to show how a baseline tool can be made to make a comprehensive assessment.

A B £ D
Assess all grade  Assess Assess all Assess core
level skills/abilities  advanced language skills
competencies  thatlead to conceptsand  and
included in future complex  skills in all foundational
curriculum, learning in subjects maths
language and operations and
maths numericals
1) A&RB
2) A&C
3) B&D
4) C&B
Options:
1.1
2.2
3.3

4.4



Question Number : 127 Question Id : 50521227696 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pick the option which is opposite in meaning to the word “proficiency” used in the passage.

(1) advanced abilities
(2)inadequacy

(3) competence
(4)incompetence

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 50521227697 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘in the form of *
The underline word is a

1) Noun

2) Pronoun
3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 5052121595

Question Shuffling Allowed : Yes



Question Id : 50521227698 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)
Question Label : Comprehension

Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Examination anxiety is a fairly common phenomenon that involves
feelings of tension or uneasiness that occur before, during, or after
an examination. Many people experience feelings of anxiety around
examinations and find it helpful in some ways, as it can be
motivating and create pressure that is needed to stay focused on
one’s performance. Examination nerves, worry, fear of failure are
normal for even the most talented student. However, stress of
formal examination results in such high degree of anxiety in some
students that they are unable to perform at a level which matches
the potential they have shown in less stressful classroom situations.
Examination stress has been characterised as “evaluative
apprehension” or “evaluative stress” and produces debilitating
behavioural, cognitive, and physiological effects no different from
those produced by any other stressor.

High stress can interfere with the student’s preparation,
concentration, and performance. Examination stress can cause test
anxiety which adversely affects test performance. Person who are
high in test anxiety tend to perceive evaluative situation as
personally threatening; in test situations, they are often tense,
apprehensive, nervous, and emotionally aroused. Moreover, the
negative self — centred cognitions which they experience distract
their attention and interfere with concentration during
examinations. High test anxious students respond to examination
stress with intense emotional reactions, negative thoughts about
themselves, feeling of inadequacy, helplessness, and loss of status
and esteem that impair their performance. Generally, the high test
anxious person instead of plunging into a task plunges inward, that
is, either neglects or misinterprets informational cues that may be
readily available to her/him, or experience attentional blocks. While
preparing for examinations, one must spend enough time for study,
overview and weigh one’s strengths and weaknesses, discuss
difficulties with teachers and classmates, plan a revision timetable,
condense notes, space out revision periods, and most importantly
on the examination day concentrate on staying calm.

Sub questions



Question Number : 129 Question Id : 50521227699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Anxiety, common before any examination can make a
candidate
A) nervous, worried and stressed.
B) feel comfortable while facing new challenges.
C) experience different type of fear.
D) suffer from mental health and discomfort.

1) A and B are correct but not C
2) Band C are correct but not A
3) Cand D are correct but not B
4) A and D are correct but not C

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Feeling of anxiety is sometimes helpful in performance.
Choose the statement which is not correct.

1) Encourages to move forward even after failure.
2) Guides to cope up with the situation.

3) Motivates and creates mental energy.

4) Helps in focussing on target under pressure.

Options :
1.1
2.2
3.3
4.4



Question Number : 131 Question Id : 50521227701 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements.
A) Examination stress can cause debilitating behaviour.
B) Examination nerves do not affect the most talented
students.

1) Aisright and B is wrong
2) Bisright and A is wrong
3) Both A and B are right

4) Both A and B are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227702 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the
underlined word?

“Examination stress produces debilitating physiological
effects”.

1) undermining
2) weakening
3) strengthening
4) restorative

Options :
1.1
2.2
3.3
4.4



Question Number : 133 Question Id : 50521227703 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A person who is high in test anxiety and takes the
evaluative situation as personally threatening, may NOT
show one of the following symptoms?

1) Concentration

2) Fear

3) Anxiety and nervousness
4) Emotional excitement

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521227704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“.......can cause test anxiety which adversely affects test
performance”
The underlined clause is clause,

1) Principal
2) Noun

3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521227705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

?

‘While preparing for examination
The underlined word is a

1
2
3
4

Moun
djective
dverb
Conjunction

A
A

[ N )

Options :
1.1
2.2
3.3
4.4

Question Id : 50521227698 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Directions: Read the passage given below and answer the question
that follow by selecting the correct/most appropriate options.

Examination anxiety is a fairly common phenomenon that involves
feelings of tension or uneasiness that occur before, during, or after
an examination. Many people experience feelings of anxiety around
examinations and find it helpful in some ways, as it can be
motivating and create pressure that is needed to stay focused on
one’s performance. Examination nerves, worry, fear of failure are
normal for even the most talented student. However, stress of
formal examination results in such high degree of anxiety in some
students that they are unable to perform at a level which matches
the potential they have shown in less stressful classroom situations.
Examination stress has been characterised as “evaluative
apprehension” or “evaluative stress” and produces debilitating
behavioural, cognitive, and physiological effects no different from
those produced by any other stressor.

High stress can interfere with the student’s preparation,
concentration, and performance. Examination stress can cause test
anxiety which adversely affects test performance. Person who are
high in test anxiety tend to perceive evaluative situation as
personally threatening; in test situations, they are often tense,
apprehensive, nervous, and emotionally aroused. Moreover, the
negative self — centred cognitions which they experience distract
their attention and interfere with concentration during
examinations. High test anxious students respond to examination
stress with intense emotional reactions, negative thoughts about
themselves, feeling of inadequacy, helplessness, and loss of status
and esteem that impair their performance. Generally, the high test
anxious person instead of plunging into a task plunges inward, that
is, either neglects or misinterprets informational cues that may be
readily available to her/him, or experience attentional blocks. While
preparing for examinations, one must spend enough time for study,
overview and weigh one’s strengths and weaknesses, discuss
difficulties with teachers and classmates, plan a revision timetable,
condense notes, space out revision periods, and most importantly
on the examination day concentrate on staying calm.

Sub questions

Question Number : 129 Question Id : 50521227699 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Anxiety, common before any examination can make a
candidate
A) nervous, worried and stressed.
B) feel comfortable while facing new challenges.
C) experience different type of fear.
D) suffer from mental health and discomfort.

1) A and B are correct but not C
2) Band C are correct but not A
3) Cand D are correct but not B
4) A and D are correct but not C

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 50521227700 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Feeling of anxiety is sometimes helpful in performance.
Choose the statement which is not correct.

1) Encourages to move forward even after failure.
2) Guides to cope up with the situation.

3) Motivates and creates mental energy.

4) Helps in focussing on target under pressure.

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 50521227701 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements.
A) Examination stress can cause debilitating behaviour.
B) Examination nerves do not affect the most talented
students.

1) Aisright and B is wrong
2) Bisright and A is wrong
3) Both A and B are right

4) Both A and B are wrong

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 50521227702 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is nearest in meaning to the
underlined word?

“Examination stress produces debilitating physiclogical
effects”.

1) undermining
2) weakening
3) strengthening
4) restorative

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 50521227703 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A person who is high in test anxiety and takes the
evaluative situation as personally threatening, may NOT
show one of the following symptoms?

1) Concentration

2) Fear

3) Anxiety and nervousness
4) Emotional excitement

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 50521227704 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“.......can cause test anxiety which adversely affects test
performance”
The underlined clause is clause.

1) Principal
2) Noun

3) Adjective
4) Adverb

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 50521227705 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



!

‘While preparing for examination
The underlined word is a

1) Noun

2) Adjective
3) Adverb

4) Conjunction

Options:
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 5052121596

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 50521227706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

While teaching in a multilingual classroom, how can a teacher address the issue of diversity?

1. By mandating the compulsory use of school language in the classroom.
2. By discouraging students to not speak in their mother tongue.

3. By recognizing the mother tongue of the student.

4. By ignoring the use of mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 50521227706 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



While teaching in a multilingual classroom, how can a teacher address the issue of diversity?

1. By mandating the compulsory use of school language in the classroom.
2. By discouraging students to not speak in their mother tongue.

3. By recognizing the mother tongue of the student.

4. By ignoring the use of mother tongue.

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A 3year-old child is able to perform simple communicative tasks using single word, phrases and short sentences. It
represent the child skill of

1. Oracy

2. Literacy

3. Creativity

4, Language learning

Options:
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 50521227707 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A 3year-old child is able to perform simple communicative tasks using single word, phrases and short sentences. It
represent the child skill of

1. Oracy

2. Literacy

3. Creativity

4, Language learning

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521227708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meta — linguistic refers to

a person’s ability to not just understanding the language.

a person’s ability to communicate.

person’s ability to be able to reflect on language and how it works.
4. person’s ability to read and write in many language.

Wb

Options:
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 50521227708 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Meta — linguistic refers to

1. a person’s ability to not just understanding the language.
2. aperson’s ability to communicate.
3. person’s ability to be able to reflect on language and how it works.
4. person’s ability to read and write in many language.
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227709 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student has difficulty in recalling sequence of letter in words and frequently losing visual memory, this may be
associated with

1. Dyslexia

2. Dyscalculia
3. Dysgraphia
4. Dyspraxia

Options:
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 50521227709 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A student has difficulty in recalling sequence of letter in words and frequently losing visual memory, this may be
associated with

1. Dyslexia

2. Dyscalculia
3. Dysgraphia
4. Dyspraxia

Options:
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227710 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following language is not included in 8t scheduled of Indian constitution?

Bodo

Bhojpuri

Santhali
4. Manipuri

b e

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 50521227710 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following language is not included in 8t scheduled of Indian constitution?

1. Bodo

2. Bhojpuri
3. Santhali
4. Manipuri

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An essential pre — requisite for learning language is

a good textbook.

motivation.

positive attitude towards language.
4. agood teacher.

Gl b e

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 50521227711 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An essential pre — requisite for learning language is

a good textbook.

motivation.

positive attitude towards language.
a good teacher.

ol e



Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521227712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reader goes through the text quickly, in order to get its central idea and substance, understand it's organisation
and comprehends the tone or intention of the writer. This sub - skill of reading is known as

1. skimming
2. scanning
3. intensive reading
4. extensive reading

Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 50521227712 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The reader goes through the text quickly, in order to get its central idea and substance, understand it's organisation
and comprehends the tone or intention of the writer. This sub - skill of reading is known as

1. skimming
2. scanning
3. intensive reading
4. extensive reading

Options:
1.1
2.2



3.3
4.4

Question Number : 143 Question Id : 50521227713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher is directing learners to work on place and meaning of words/sentences. What could this is related to?

1. Semanfics

2. Phonology

3. Morphology
4, Syntax

Options:
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 50521227713 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If a teacher is directing learners to work on place and meaning of words/sentences. What could this is related to?

1. Semanfics

2. Phonology

3. Morphology
4, Syntax

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521227714 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of asynchronous communication is

newspaper
instant messaging
video conferencing
4. instant chat

.l il e

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 50521227714 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An example of asynchronous communication is

newspaper
instant messaging
video conferencing
4. instant chat

sl il

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227715 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which aspect of language should be seen mainly as a process of discovering uses and functions of items through
exposures to spoken and written inputs?

1. Grammar
2. Skills

3. Fluency
4. Proficiency

Options:
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 50521227715 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which aspect of language should be seen mainly as a process of discovering uses and functions of items through
exposures to spoken and written inputs?

1. Grammar
2. Skills

3. Fluency
4. Proficiency

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If learning of a language is not an automatic process, then what is it associated with?

Language learning
Language is a system
Language acquisition
Language is ever changing

L L s o

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 50521227716 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

If learning of a language is not an automatic process, then what is it associated with?

1. Language learning

2. Language is a system

3. Language acquisition

4. Language is ever changing

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar - translation method of teaching mainly emphasizes on development of languages skills

1. listening —speaking
2. reading —writing
3. listening — writing
4, speaking - reading



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 50521227717 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Grammar - translation method of teaching mainly emphasizes on development of languages skills

1. listening —speaking
2. reading —writing
3. listening — writing
4, speaking - reading

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 50521227718 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following two skills are known as receptive language skills?

Listening — Speaking
Reading — Writing
Listening — Reading
Speaking — Writing

P Ll B P

Options :
1.1
2.2
3.3



4.4

Question Number : 148 Question Id : 50521227718 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following two skills are known as receptive language skills?

1. Listening — Speaking
2. Reading — Writing
3. Listening — Reading
4. Speaking — Writing
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521227719 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher has instructed his students to prepare a slide presentation on a given topic. Student are to include pictures,
graphics, media clips and links to resource. What competencies will students exhibit at the completion of this project?

1. Analyse the impact of society on media.

2. Recognize the media’s strategies to inform and persuade.

3. Demonstrate strategies and creative technique to prepare presentation using a variety of media.
4, |dentify the aesthetic effects of media presentation.

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 50521227719 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Ateacher has instructed his students to prepare a slide presentation on a given topic. Student are to include pictures,
graphics, media clips and links to resource. What competencies will students exhibit at the completion of this project?

1. Analyse the impact of society on media.

2. Recognize the media’s strategies to inform and persuade.

3. Demonstrate strategies and creative technique to prepare presentation using a variety of media.
4. |dentify the aesthetic effects of media presentation.

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521227720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Right to Education Act 2009, recommends the learning through the mother tongue.

up to VIII standard
up to V standard
up to X standard
up to VI standard

e L

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 50521227720 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Right to Education Act 2009, recommends the learning through the mother tongue.

1. up to VIII standard
2. upto V standard

3. up to X standard
4. up to VI standard

Options :
1.1
2.2
3.3
4.4



